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(1) Zdfri(v) YTHOEREICEY v = 10 %
(2) Bl A58 (m)
mi = LO0SL = 33.8 N/nf
1 — & v
100
X->T m = 33.8 N/mf
(3)/kEA L FEE(W/C) m = -18.3 + 28.1 X C/W
W/C = 28.1 + (33.8 + 18.3) X 100 = 53.5 % = [55% (_E[RfH) ]
S W/C = 53.5 9%
(4) K& (W) YTHOEFEICEDY W = 175 ke/m
(5)HpNE A FE(C) C =W = (W/C) X 100 = 175 =+ 53.5 X 100 = 327 kg/m
Cv= C =+ fgrg = 327 + 3.04 = 108 L/mi
(6) %255 E (A) A = 4.5 % X 1000 = 45 L/md
(T)HEMHEME(G) BITHOFEFICLY EAXME = 0.610 m/m EFER = 59.0 %
Gv = 0.610 X 1000 X 59.0 = 100 = 360 L/mi
G = Gv X REEE = 360 X 2.72 = 979  kg/mi
Gl = G X 60.0 % = 587 ke/m
G2 = G X 40.0 % = 392 ke/mi
(8) L HHEH# = (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 688 = 312 L/m
S = Sv X EKEEE = 312 X 2.59 = 808 kg/mi
SI1 = S X 80.0 % = 646 keg/m
S2 =S X 20.0 % = 162 kg/m
(9)MEM=E(s/a) s/a = Sv ~ (Gv+Sv) X 100 = 46.4 %
(10) B yEAnA & (Ad) Adl = C X {fwu% = 327 X 0.8256 % = 2.70 kg/m
Ad2 = C X IFINE X BE = 327 X 0.6000 % X 1.00 = 1.96 kg/m
i A& £ ke /mi
. = S} gt ' iz L ' 7 % fn vl
et Te 1 X oo e 0o 0ol 0 © 0
327 — — 175 | 646 | 162 — — 587 | 392 — 2.70 - —
\ o lm B b o) | EMIRG I [FIFHD: @ 80.0:20. 0
7k'1?)(/]*tt 53.5 /o i H 4%‘ =S 46. 4 /O <E}?E{rb *ﬂ’%’*ﬁ@@ 60. 0:40. 0

1+




